& w h" % @ Mo rong da thue

Tén:_ Ngaythang:_ Piém:__
x— (2= 6x)(3x+ 5)(6x— 5) (5x— 6)(3x+2)(x — 2)
(5x— 3)(5x+ 3)(4x — 1) 4x— (4+ 2x)(5x — 3)(5x + 4)
(2x — 1)(2x + 5)(5x + 3) (4" — 4x—4)(x+2)— 6 x 3x— 4
(4x° + 2)(4x — 3) + 2 + 6x +2 (6x— 6)(2x — 5)(3x — 3)
(5x — 6)(3x— 6)(x — 1) (5x— 6)(6x> + 5x — 5) — (5x + 6)(5x — 1)
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Q% W k" % @ Mo rong da thue

Tén: Ngay thang: Piém:
x— (2—6x)(3x+ 5)(6x—5) (5x— 6)(3x + 2)(x — 2)
108x° + 54x° — 179x + 50 15x° — 38x% + dx + 24
(5x—3)(5x+3)4x— 1) 4x — (4 + 2x)(5x — 3)(5x + 4)
100x° — 25x* — 36x+ 9 —50x° — 110x> + 8x + 48
(2x— 1)(2x + 5)(5x + 3) (4% — dx— 4)(x + 2)— 6 x 3x— 4
205 + 52x% —x— 15 473 + 4% = 30x — 12
(4% + 2)(4x — 3) + 27 + 6x +2 (6x — 6)(2x — 5)(3x — 3)
16x° — 102> + 14x— 4 36x° — 162x° + 216x — 90
(5x— 6)3x— 6)(x— 1) (5x — 6)(6x* + 5x— 5) — (5x + 6)(5x — 1)
15x° — 63x% + 84x — 36 30x° — 36x% — 80x + 36

www.snowmath.com


https://www.snowmath.com

